1. Read the article. Choose the best answers.

a) Who runs in the wife carrying sport? c)] Why is wife carrying difficult?
A) the male competitor A) There's a female team-mate.
B) the female competitor B) It's a sport from Finland that was started in 1992.
C) both C) You run 253 metres with someone on your back.

b) Which country is wife carrying NOT popular in? d) How long is a chess boxing match?

A) Finland. A) Thirty-three minutes.
B) Australia. B) Six minutes.
C) India. C) Three minutes.

2. Write at least four body parts that people use more than other body parts in these two sports.
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